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Match #33


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
 The word was coined in a 1945 Army manual to describe soldiers that weren’t openly insubordinate but shirked responsibility anyway. What word today describes a behavior in which displeasure is not expressed openly, but rather through inaction, resentment and avoiding responsibility, such as someone saying something will be done, then just not doing it?

ANSWER: passive-aggressive
2. 
This rock is often mined and stored wet in order to prevent spontaneous combustion.  While it is still being formed today, often in fossilized peat bogs, a majority of it was formed in the tropical swamp forests of the Carboniferous period.  Lignite is the "brown" variety of what material mined in the Appalachian regions of Virginia and used primarily as a fossil fuel?

ANSWER: coal
3.
THIS IS A COMPUTATION QUESTION.  What is the coordinate of the focus of the parabola y equals one-fourth x squared plus 9?

ANSWER:
(0, 10)
4. 
In a 1990 medical journal article, a physician noted that the background figures on the right of this painting bear a strong resemblance to the parts of the human brain.  A restorer actually painted the index finger of the title figure in what 1511 fresco on the Sistine Chapel ceiling by Michelangelo, showing the result of God’s work on the sixth day?

ANSWER:  The Creation of Adam 

5.
This type of figure of speech differs from its close cousin in that it compares the two nouns or adjectives being used in it, as opposed to equating them. “Life is a dream” is not one, but “busy as a bee” and “cute as a button” are examples of what comparative figure of speech that usually uses like or as? 

ANSWER: simile
6.
It appeared in use in the premiere of NBC's Heroes, and the third season of 24 saw the CounterTerrorist Unit switch from using MacOS to this open-source desktop environment.  Designed using the Qt toolkit is what Linux desktop, the chief rival of the Gnome desktop?

ANSWER: KDE or K Desktop Environment
7.
A Giffen one of these experiences an increase in demand when prices go up. Examples of a public one include highways and airports. A durable one has a lifespan of more than three years. What economics term describes any object that increases satisfaction when consumed, and is often paired with “services”?  

ANSWER: goods

8.
Only three of them occur naturally in the earth’s crust.  Name this group of elements with atomic numbers 89 to 103.

ANSWER:
actinides (accept “actinide group” or “actinide series”)

9. 
Models for this brand include the Georgie, Athens, and Beach, which are a waterproof boot, a flip-flop, and the original shoe with a strap in the back.  Founded in 2002 in Boulder, Colorado, what is the reptilian name of this manufacturer of ugly yet comfortable and medically beneficial shoes?


ANSWER:  crocs
10.
At the end, its author says he has nothing to gain: “I have no children, by which I can propose to get a single penny; the youngest being nine years old, and my wife past child-bearing.” Its author estimated that a newborn weighs 12 pounds, and after a year it weighs 28 pounds (enough for four meals) and costs eight shillings. Selling Irish babies for food is the small suggestion made in what satirical essay by Jonathan Swift? 

ANSWER: “A Modest Proposal”

11.
Its main purpose is to mediate small surface imperfections between an integrated circuit and a heat sink. With all three types giving varied results, the most common is the silicone based one, followed by the ceramic based, although the best is metal based. Name this compound that conducts heat from an integrated circuit, and is thus vital for computer use.

ANSWER: Thermal grease
12.
After a visit to Japan in 1924, he predicted a war with Japan, beginning with an attack on Pearl Harbor. Two years later, he resigned after a court-martial. In 1916, he took flying lessons and eventually commanded American air units in World War I. What general conducted tests in the early 1920s where airplanes sank captured German ships, demonstrating the potential of air power? 

ANSWER: Billy Mitchell
13.
THIS IS A COMPUTATION QUESTION. How many protons are in a molecule of naphthalene, a molecule with formula C10H8?

ANSWER:
68 (6 * 10 + 8 * 1)

14.
Extra prayers called Tarawih (TAH-rah-wee) are recited during this time. If one is exempt from its primary requirement, they must either make up missed days after this time is over, or feed a needy person instead. The Eid al-Fitr (EED al-FIH-ter) is a three-day festival to end what month of fasting in the calendar of Islam? 

ANSWER: Ramadan
15.
In the sentence, “After winning his first race, my brother kissed his girlfriend,” what noun is the subject of that sentence?

ANSWER: brother

Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
What type of photoreceptor cell is used to see in dim light?

ANSWER:
rods

1B.
How many protons are in a molecule of cyanide?

ANSWER:
13
2A.
Sine squared theta plus cosine squared theta equals what?

ANSWER:
one
2B.
Add an s to this word and it is a word that expresses mild annoyance. What is this word that means to remove the covering from something, especially an ear of corn?

ANSWER: shuck
3A.
What Walt Whitman poem was written in response to the assassination of Abraham Lincoln?

ANSWER: “O Captain! My Captain!”

3B. 
A wedding-turned-sideshow is the setting for what music video, the first by the band Panic! at the Disco, that won the Best Video award at the 2006 MTV VMAs?

ANSWER:  “I Write Sins Not Tragedies”

4A.
What religion, founded in 19th century Persia, is a descendant of Babism (BAH-biz-em) and believes in the Oneness of God, of religion and of mankind?

ANSWER: Baha’i Faith

4B.
THIS IS A COMPUTATION QUESTION. One million French workers are on strike on Sunday. The number of strikers increases by 50% per day. How many workers are on strike by Wednesday?

ANSWER:
3,375,000 (accept equivalents, such as “3.375 million”)

5A.
What nation was declared independent in 1804, making it the second independent post-colonial nation in the Western Hemisphere? 

ANSWER: Haiti
5B.
What airport serves Chicago and is one of the world’s busiest airports? 

ANSWER: Chicago O’Hare Airport

6A.
What is the Spanish translation of the English number 2006?

ANSWER: dos mil seis (dohs meel says), accept it with “y” (ee) between mil and seis

6B.
What Swedish physicist lends his name to a unit of wavelength measurement that is equal to one-tenth of a nanometer? 

ANSWER: Anders Jonas Ångström (ang-STRUM)

7A. 
Which man composed Wellington’s Victory in 1813, which premiered in Vienna on the same night as his seventh of nine symphonies?


ANSWER:  Ludwig van Beethoven

7B.
The island of Blefescu has constantly been at war with what nation, which is also populated by six-inch high people? 

ANSWER: Lilliput
8A.
THIS IS A COMPUTATION QUESTION.  Solve for x.  The quantity 3 plus 2i times the quantity x plus i equals 13 plus 13i.

ANSWER:
x equals 5
8B. 
What British heavy metal band led by Ozzy Osbourne dominated in the 1970s with songs such as “Iron Man” and “Crazy Train”?

ANSWER:  Black Sabbath
9A.
What war was ended by the Treaty of Guadalupe Hidalgo? 

ANSWER: Mexican War

9B.
THIS IS A COMPUTATION QUESTION. What is the cosine of 120 degrees?

ANSWER:
-.5 or -1/2
10A.
The islets of Langerhans are located in what organ?

ANSWER:
pancreas
10B.
Who retired in 1556 as Holy Roman Emperor, and was ruler of Spain, Portugal, Austria, Naples, the Netherlands, and much of Germany? 

ANSWER: Charles V (accept Charles I)

Third period, 15 toss-ups, 10 points each

1.
They were negotiated between September 5 and 17, 1978. The status of the West Bank almost made the talks collapse, but President Carter forced the issue through. Their signing completed a process that started when Anwar Sadat addressed the Knesset in November 1977. What accords saw Israel return the Sinai to Egypt and were named for the site of negotiations that also is the Presidential mountain retreat?

ANSWER: Camp David Accords

2. 
Soil in this area varies from summer to winter; in the summer, it is a very swampy area, consisting of a top layer of soil that has melted from the winter permafrost.  Normally a treeless plain with winds blowing consistently in excess of 30 miles per hour is what ecosystem, often found in areas of Canada or Russia?

ANSWER: tundra
3.
THIS IS A COMPUTATION QUESTION. What is the probability of rolling a 6 on a fair pair of dice?

ANSWER:
5/36
4.
Lawyers use this six-letter word to refer to a warning not to do something until a hearing has been held. Informally, it refers to a warning of potential risks attached to something like a proposal. What is this term that lawyers also use with the word “emptor”?

ANSWER: caveats

5. 
This team lost a game to Lehigh University in 1889 by a score of 106-0.  Since then, they have achieved some success, with John Cappelletti winning the Heisman in 1973 and the team winning national titles in 1982 and 1986.  What college football team located in State College, Pennsylvania, is coached by Joe Paterno?

ANSWER:  Penn State Nittany Lions (accept either)

6.
With chemical formula C9H15N5O, this vasodilator (vah-soh-dih-LAY-ter)  was originally used for high blood pressure.  Name this active ingredient of Rogaine used to fight hair loss.

ANSWER:
minoxidil
7.
Her mother is Mena, a cloud spirit called an apsaras (ap-SAH-rahs), while her father is Himivat (hee-MEE-vaht), the god of snow and lord of the Himalaya mountains.  Also known as Uma (OO-mah), Aparna, or Mataji (mah-TAH-jee), which benevolent form of the Devi, the consort to Shiva, performed tapas in order to bring about the resurrection of the love god Kama and is the namesake of a character in the Harry Potter series? 

ANSWER:  Parvati
8.
This short story’s title character notices George Washington’s picture has replaced the picture of George III at Nicholas Vedder’s inn. One day, to escape his nagging wife, he goes into the Catskills; there, he meets the spirits of Henry Hudson’s crew and plays ninepins with them. What Washington Irving character then takes a nice, long nap – twenty years, to be exact? 

ANSWER: Rip van Winkle
9.
Winston Churchill said in a 1946 speech that it had “descended across the Continent” and extended from “Stettin (SHTEH-tin) in the Baltic to Trieste in the Adriatic.” The border between Western and Eastern Europe during the Cold War was described with what two-word metallic phrase? 

ANSWER: Iron Curtain
10.
A ceremony called “opening of the mouth” accompanied the process of making one. Properly done, it took 70 days. For 40 of them, the body just lay there, stuffed with a mixture of natron and salt to dry out. The first step in making one was removing internal organs, leaving the heart in place. What corpses preserved for the afterlife by the ancient Egyptians turned evil in a 1932 Boris Karloff movie and a 1999 Brendan Fraser movie?

ANSWER: mummy (accept mummies or mummification)

11.
At the end of this novel, Miles Hendon is given the right to sit in the presence of the king. One title character lives on Offal Court with his abusive father, while the other grew up in all luxury as the son of King Henry VIII. In what novel by Mark Twain do the two title characters switch places? 

ANSWER: The Prince and the Pauper
12.
Born in Belgium, his mother, Pamela Firestone, was a Dutch model.  Raised in France, he played two years as a teenager for the Paris Basket Racing Team, before being drafted in 2001 by the San Antonio Spurs.  Who is this point guard, also known for being the significant other of actress Eva Longoria?


ANSWER:  Tony Parker

13.
The story of French serial killer Gilles (ZHEEL) de Rais (dih RAY) inspired this story of Charles Perrault (peh-ROH). The title character had been married seven times, but each of his wives had disappeared. He gave his wife all the keys to the palace, including one room that she wasn’t supposed to enter. In what fairy tale did the forbidden room contain the bodies of her seven predecessors? 

ANSWER: Bluebeard (accept “Duke Bluebeard’s Castle”)

14.
Its address is 350 Fifth Avenue. Its spire was initially intended to be a mooring mast for zeppelins and today has an antenna that transmits over a dozen TV and radio stations on it. In 1945, a B-25 crashed into it. There is a public observatory on the 86th floor of what 102-story New York City building that was climbed, in a 1933 movie, by King Kong? 

ANSWER: Empire State Building
15.
Caused by a paramyxovirus (pah-ruh-mik-soh-VYE-russ), its symptoms include fever, orchitis (or-KIGH-tis), and swelling of the parotid gland.  Teens and older men can also suffer from lowered fertility. Name this disease that struck Iowa in 2006, the second M in the MMR vaccine.

ANSWER:
mumps
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
He allowed the Chickahominy nation to remain independent, but wiped out the Cheaspeake nation entirely. What Native American chief, whose proper name was Wahunsacock (wah-HOON-sah-cock), was the father of Pocahantas and ruler of eastern Virginia when Jamestown was settled? 

ANSWER: Powhatan (accept Wahunsacock before it is said in the question)

2. 
He spent twenty four years in the House, representing the Grand Rapids district, after his time as a football star at Michigan and a Yale Law graduate.  In August, he was admitted to the Mayo Clinic for angioplasty to clear his heart.  What former President, whose wife founded a clinic for chemical dependency, ascended to the Presidency following Richard Nixon's resignation?

ANSWER: Gerald Ford
3.
A number of her letters addressed to “Master” appear to be addressing a male lover. In recent years, some theorize that she and her friend Susan Gilbert were lovers. Her poems do not have titles; they have Johnson numbers to place them in chronological order. Her sister Lavinia helped unearth many of her poems and published them after her 1886 death. What poet, the “Belle of Amherst,” wrote “I’m nobody! Who are you?”

ANSWER: Emily Dickinson
4.
First performed in 1887 in Cleveland, it used an interferometer and a half-silvered mirror, used to split a beam.  Name this experiment that was considered a failure due to its inability to measure an ether wind.

ANSWER:
Michelson-Morley experiment

5.
What Greek letter is used to represent the ratio of a circle’s circumference to its diameter, which is approximately 3.14159?

ANSWER:
pi
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

